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12. (1997 ¥ =) & y = f(nx)e/™, Hh Fasg, W dy =
I [%f’(lnx) +_fl(x)f(1nx)]dx

IMEY S = o) » % « D 4 f(Inz)e™ £ (2),

e G ef“’[%f'(lnx) F PP lnx)iids.
[8=) dy=d[f(nx)e/®]

= /@ d[ f(nx)] + f(nz)d(e/)

s gho [% £/ (Inz) + £ (2) f(lnz) Jdz.

13. (1998 F2=.10) FML () = 7EHU, D) PR E - B ERE, 0) 0

WAL
b fCE = s

n—>oco

(Bl @ =" f(D=a,PWERITBIy—1=n(x—D.¥E, .0 RAFERF, s
—1-L Fp
n

lim (——)n

hmf(f e llm(l——)" = er= = el
z‘cosl; o r D,

14. (2003 F%=) #& f(2) = . HIRME = 0 bEL,
0, = x=0,

MAPWREGCERZ A >2 .
(&) HA>168f, F
: {kz:"“cosl-i—x"‘zsin—l—, EFx#£0
) — x x
0, Fx =0,
BRYA> 28, ﬁl‘iglf’u) =0=f(0), PEHIFEHE = = 0 &L
15. (2003 $(%¥ =) CEHMEK y=2"—3d’z+065z §AHY], W O ATLUET « RN HO® =

44°

[#] Eﬁ@iﬁ, EYELAE ¥y =322 -3¢ = 0,8 2 = a°.
XHEEWS y BRI 0) FRE O =x} —3a’z, +6=0,
b2 = x22(3a® — x2)? = a® - 4a* = 4a°.

16. (2004 $%#V9) i% y = arctane® — In, ,/ 2,+1 FI'J

[##)1 [HEH y= arctane” —1+%ln(e2’+ D, y =

P
1+e2z 1+e21+1’
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X R .

v dy Te—1
PrEL dzl==1 & +1
ZERE

L (1987 ¥ =) EHRH (o) EXE (e 0) ATR, 2, flx, BK[E(a,0) RIEBEFAE,

- B <z UELHFE—-HE

(A f(B) — fla) = f(Ob—a),Hh a<E<h.

B)f(b) — f(x) = O Bb— ), HH x, < E<b.

(O) flxy) — flxy) = f(O(xy —x1) B 2 < E< 13,

(D) f(x) — fla) = f (O(x; —a)s KHP a< €< x,. [C]

[(®] HRPIHEHERFAERNEK: RBEAXE LESE, EFFXE LS. MERA), (B)
M(D) 7E X [A] 4 S AW R AT — &4, RE (O FaEHEMF, BEO.
R0 ¥E=10 REH f(OMERHWRER (+2) =af (@), BH (0 =0,
- KA a0 HETER, W
- (A f(x) fEx = 1 AT H.
B f() FExz=1447TF, H Q) =a.
Of FEz=14T%, H fQ) =0
O f(x) Exz=14%, B f Q) = ab. (D}
(8] MED). HERER, € z=0, 8 f() = af (0). HRFEBEX,

P mf(“”;_f(l) = fimy ARNEAGFE0S ;“f“’) B s

=0

V| x sin%, o o

0,
3. (1993 ¥ =.m) iﬁéﬁﬁf(z)={ W fx) fEH =04

0, x=0.
(A) BRFHLE. (B) 43 B 4 (L e 4.
L (© EZEFTE. (D) . [
L WY EHN S 2 = 0 ARG BNlimf(2) = limy/TZ sin 5 = 0 = £(0) BB
| E#
i ' Vizx sin—l;
X plim LSO i L Rppte, B O,

4 (1995 WEZ 0 B £ HTRES, bR AHm L 2LA=D g g
= f(2) TEAA, fQD) AR TIRFERR

(A)2. (B) — 1. (©) % (D) — 2. (D]
iRy ) 2l O o ek Rt o fO) 8 & o qy iy g,
0 ZI 2 >0 et 2

ik (D).
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5. (1998 ¥ =.14) &JAMEE f(x) fE(—oco, +o0) HET G, FHIH 4,
Rlim D “21;(1“1) ——1, MM y = f(x) EEG, £5) AHEIEN

(A) % (B)0. (C)—1. (D) — 2. )

0 2

= > lim LO=D = FO) _ 2 ¢ (5)= £/(5) =— 2, HtE (D).

B (2000 =) RE f(2) EH x=a W T, WEH| () |EH z=a AT
f 75 5 S

(A)f(a) =0 H f'(a) = 0. (B)f(a) =0 H f'(a) #0

(C)f(a) >0 H f'(a) > 0. (D) fla) < 0 H f'(a) < 0. [B)

(2] ERHEA .. Y f(@) £ 0B, BlInEBIC) F f(a) >0, f(2) EH x=abiiE
SEtE (AT S F, TEx=a ENBEA () >0, 18 | f(2) | = f() Ex=a kbW T H
BHERR T (C) F(D).

Y fla) =08, o) = | (D], MA

¢ @ = lim LD = @]y {1
et Tl ot lx—a

¢ ta) S leeie=i Hlall ot J'—‘Tf(f)
e xr—a i — |x—a
e ) —FlarE C -
Illr:}—.r—a =— | f@],
Melx) = | ) |TExz=a CTEFHEEEHBRE ¢, (@) = ¢_ (a),B]
| (@) | =— | fa)|e]|f@|=08f(a) =0.

HOHERR (A, [AlBT L IE B T (B) & IE# 9.
7.(2002) FFE=) BWEE f(2) EHAXIE[a,0] EHE X, EFXIE(a.b) ATF, M
(A) 3 fla) f(b) < 0B, FFEEE € (ayd), fE (&) = 0.
(B) XHEAT € € (a,b).'ﬁll[.rr;[f(x) —f®]=0.
(O X f(a) = f(b) B, FFEEE (a,0), ff (&) =0.
(D) FEFE € € (a,b), i f(b) — f(a) = f (&) (b—a). [B]
(] BENEx=aflz=04f(x) RELEMF, FTUFSEHR . P/RERMBEYABRE
SEH R, (A).(C) f(D) iR, Mk (B).
Lhrb, BR f(2) TR ELT S, WLELE. B(B) EH.

S ‘é@ﬂ =) ; . f(z)
8. (2003 M%) & (0 HARBFROARK, B 10 Fh, WEH g = L2
(A) FExz =0 b EMRBAFE. (B) A& BkBK[E] i & = = 0.
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